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A British day care operator was__ of child abuse.
(A) convicted (B) confirmed (C) confiscated (D) contracted
President Trump faced accusation of sexual
(A) misconduct (B) misdeed (C) misrule (D) misconception
The _ ofaPresident of the Republic of China will take place on May 20.
(A) address (B) worship (C) etiquette (D) inauguration
The suspect has been caught a red handed with ____ evidence. He will be charged with pickpocketing.
(A) credible (B) solid (C) believable (D) alibi
Hundreds of acres of forests in California alone are __ due to the wild fires in summer.
(A) cautioned (B) approached (C) expanded (D) ravaged
Mary was convicted of drug offences and was____ to her own country.
(A) retaliated (B) deported (C) departed (D) eradicated
Advocates of the Me Two movement held an all-night candlelit ~~ outside the city hall.
(A) vigilance (B) visibility (C) varsity (D) vigil
A masked robber threatened the jewelry store staff with a gunand ___ several precious diamond necklaces.
(A) hold up (B) took on (C) turned out (D) got off
After being interrogated by the police for two days, the suspect finally  to the crime.
(A) confessed (B) confiscated (C) confirmed (D) contaminated
Terronsts used a remote control device to ___ the bomb and tried to destroy the airport.
(A) deter (B) detonate (C) detect (D) detain
A protection ___is a command from a judge that tells the abuser he or she must mot abuse, harass, or disturb
the peace of the victim.
(A) statement (B) guarantee (C) order (D) record
Tommy got a for driving too fast on the Xinhai Tunnel.
(A) certificate (B) citation (C) registration (D) notion
Generally speaking, every hospital ambulance is equipped with one or two
(A) coroners (B) inmates (C) paramedics (D) inspectors
Apiece of food __ his airway and caused him to stop breathing. He was immediately rushed to the hospital.
(A) exhilarated (B) retrieved (C) obstructed (D) unattended
. The material evidence found at the crime scene is highly _ to the murder.
(A) relevant (B) respective (C) redundant (D) reluctant
. During the police investigation, the suspect’s attorney advised him to keep a low .
(A) performance (B) portfolio (C) preference (D) profile
The price of pork is likely to rise worldwide after African swine fever took a heavy _ on livestock in China.
(A) budget (B) toll (C) compensation (D) claim
. By wearing face masks, we can prevent the  of the disease.
(A) transition (B) transaction (C) transit (D) transmission
. Rape is the unlawful _ knowledge of a woman by force and without her consent.
(A) crystal (B) crayon (C) carnal (D) common
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20. The powers of the police touse_____ force are controlled by procedural requirements. Police action must be to be
Justitied considered appropriate.
(A) eliminated (B) coercive (C) moderate (D) bothersome
21. If a family member has an infection and everyone in the household is ___.All family members should stay at
home. Do not allow any visitors to visit then.
(A) quarantined (B) idled (C) trespassed (D) infringed
22. Police officer Wangis____because he has done an excellent of arresting one of the country’s most wanted

criminals.

(A) performed (B) promoted (C) proceeded (D) progressed
23. The police have __ parts off the roads with traffic cones for routine check.
(A) cordoned (B) handed (C) divided (D) split
24. The policemust __ the judge that a crime has been committed in order to obtain a warrant to search the

suspect’s house.

(A) conduct (B) convince (C) condemn (D) confiscate
25. Your alibi was not accepted by the prosecutor. Therefore, it did not  you from the crime.
(A) exonerate (B) remove (C) deactivate (D) utilize
26. Parental verbal _____may leave a permanent scar on children, making them vulnerable to shouting and

yelling in their adulthood.

(A) abuse (B) endurance (C) inquiry (D) obligation
27, Despite the economic , the famous fast food restaurant chain still yielded huge profits last year.
(A) horizon (B) misdeem (C) regression (D) doldrums

28. The government has instituted security regulations intended to prevent the entry of hazardous materials or

into the country.

(A) illumination (B) indictment (C) convention (D) contraband
29. Drunk drivers pose a serious______ to other people.
(A) subsidy (B) menace (C) task (D) shield
30. Shipments between two countries are international  and must comply with applicable regulations before

being cleared for entry.

(A) duplication (B) transactions (C) oscillation (D) contention
31-35

In 2010, a South Korean couple was__31__ the murder of their daughter through neglect. When their daughter was

born, she weighed 2.9 kilograms. Three months later, when she 32 | she weighed 2.4 kilograms. The strangest
part was that the parents were playing a game for many hours each day in which they raiseda 33 child online.
Similarly, 2014, a young South Korecan man who spent much of his time in café’s Internet was arrested after his
two-year-old son starved to death. South Korea has seen exponential growth in computer and Internet use. This has
caused many to worry thal certain users are__34 _ unable to control how much time they spend on the Internet.
They fear an epidemic of addiction to video game. South Korea is not 35 : many other developed countries

have also experienced huge growth in video games and Internet addiction.

31

(A) charged with (B) changed into (C) chosen from (D) checked out
32.

(A) broke down (B) ran out (C) passed away (D) started over
33.

(A) crucial (B) visual (C) racial (D) virtual
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34

(A) increasingly (B) spaciously (C) simultaneously (D) interestingly
3s.

(A) over (B) alone (Cyall (D) new
36-40

Mickey Mouse, the official mascot of The Walt Disney Company, is one of the most recognizable cartoon
characters in the world. Yet, few people know that it was created as a replacement for Oswald the Lucky Rabbit, an
earlier cartoon character created by the Disney studio for Charles Mintz of Universal Studios. In the spring of 1928,
with_the series going strong, Disney asked Mintz for an increase in the budget. But Mintz instead demanded that Walt
take a 20 percent budget cut, and as leverage, he reminded Disney that Universal owned the character, and revealed
that he had already signed most of Disney’s current employees to his new contract. Mintz owned Oswald and thought

he had Disnev over a barrel. Angrily, Disney retused the deal and returned to produce the final Oswald cartoons he

contractually owed Mintz. Disney was dismayed at the betrayal by his staff, but determined to restart from scratch.

The new Disney Studio soon started. In the spring of 1928, Disney asked Ub Iwerks to start drawing up new
character ideas. Iwerks tried skelches of various animals, such as dogs and cats, but none of these appealed to Disney.
A female cow and male horse were also rejected. Then, Walt Disney thought of an old pet mouse he used to have on
his farm. He asked Iwerks to draw a new mouse character for Disney. “Mortimer Mouse” had been Disney’s original
name for the character before his wife, Lillian, convinced him to change it, and ultimately Mickey Mouse came to be.
Actor Mickey Rooney has claimed that, during his Mickey McGuire days, he met cartoonist Walt Disney at the
Warner Brothers studio, and that Disney was inspired to name Mickey Mouse after him.

36. What does “the series” in the first paragraph refer t0?
(A) The Mickey Mouse series. (B)The Oswald series.
(C) The Iwerks series. (D)The Mintz series.
37. Why did Walt Disney create the cartoon character Mickey Mouse?
(A) He wanted to create an official mascot for the Walt Disney Company.
(B) Charles Mintz asked him to create a character in a new cartoon series.
(C) Universal Studios needed a new character to replace Oswald the Lucky Rabbit.
(D) He lost his right to an old popular cartoon character and had to create a new one.
38. What does *“ he had Disney over a barrel” mean in the first paragraph?
(A) He bad Disney under his control.
(B) He made Disney feel relieved.
(C) He had inspired Disney.
(D) He had irritated Disney
39. From whom did the mouse character get the name “ Mickey Mouse™?
(A) Walt Disney (B) Ub Iwerks (C) Lillian Disney (D) Warmer Brothers
40. Which of the following is true about the creation of Mickey Mouse as a cartoon character?
(A) Disney’s wife convinced him to replace other animals with a mouse character.
(B) The idea of a mouse character came from Disney’s old pet mouse on his farm.
(C) Twerks had drawn many other animals before a mouse character occurred to him.

(D) Disney was inspired by actor Mickey Rooney, who he met at the Warner Brothers Studio.
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Investigators have the suspect for hours to eliminate the innocent people and to obtain a confession
from him.

(A) intervened (B) interrogated (C) interchanged (D) interfaced

Fire alarm systems used to protect life and property are through fire detectors, such as smoke or heat
Sensors. _

(A) activated (B) accessed (C) accused (D) acceded

If something is by someone, it has been deliberately destroyed or damaged by the person.

(A) intoxicated (B) deteriorated (C) vandalized (D) impounded

The development of drone technology is a challenge for law enforcement in many states since drones have been
dropping such as drugs, weapons and cell phones into prisons.

(A) contracture (B) contradict (C) contractor (D) contraband

Drugs are chemicals that affect brain’s reward circuit by flooding it with dopamine. Thus, drug can
lead to a higher risk of unintentional injuries, accidents, domestic violence incidents, and crimes.

(A) absolve (B) abuse (C) abandon (D) abduction

People should - theunique laws and traditions of the country that they visit.

(A) have been subjected to(B) being subjected to (C) be subjective to (D) be subject to

The man ___ himself to the police for the hit-and-run incident he was involved the night before.
(A) turned ... on (B) turned... in (C) turned ... out (D) turned ... off '
Heis - ofliberty against his will as a punishment for a crime that he has committed.

(A) reprieved © (B) derived (C) deprived (D) retrieved

The defendant was sentenced to six years’ imprisonment for , which is a crime of killing someone
without malice aforethought.

(A) manslaughter (B) murder (C) mug (D) misdemeanor

If all new homes are built to meet consumer demand at more prices, more people will be able to buy

themselves a new home.

(A) effectible (B) affordable (C) affectional (D) low

The Poarch Band of Creek Indians tribe, which is a Native American tribe, says it will cover the cost of funerals
and burials for all the ‘ of Sunday's tornadoes in southeastern Alabama. _

(A) victors (B) hostages (C) felons (D) victims

The actor has been indicted on 16 felony counts for making false reports of a possible hate crime.
(A) allegedly (B) alleged (C) definite (D) alternatively

According to the prosecutors, Christopher his wife with his bare hands, suffocated his two daughtets,

and disposed of their remains at a secluded oil field.

(A) stabbed (B) stringed (C) strangled (D) shot

Students from seven elementary schools came together to raise funds for children in Kenya. They hope all
Kenyan children can receive education no matter their .

(A) benefits (B) circumstances (C) weights (D) circulations

Using oysters as natural , the project aims to clean up the water in the New York Harbor, which has

been polluted and depleted of marine life for years.
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25.

26.
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28.

29.

30.

(A) purifiers (B) purifies (C) purifications (D) purities
Starting next month, a new satellite system will allow air traffic controllets to 'planes entering their

air space in real time.

(A) initiate (B) intake (C) track (D) transcend

Australia is deploying more assets to the Solomon Islands to contain the oil spill from a grounded
ship next to a UNESCO World Heritage Site.

(A) in case (B) in an effort (C) in a sense (D) in the wake

The curators of an exhibition in Florence have claimed that the Virgin with the Laughing Child is the only
sculpture by Leonardo da Vinci.

(A) survivor (B) survival ’ (C) survive (D) surviving

During an earthquake, smoke alarms and sprinkler systems frequently in building even if there is no
fire.

(A) show off (B) run off (C) go off D) put off

The Fukushima Nuclear Disaster was the of a powerful earthquake combined with a 15-metre
tsunami on March 11%, 2011.

(A) consequence (B) beacon (C) coercion (D) accomplice

When someone is arrested on a charge of public intoxication, he or she is booked into the city jail for 2 minimum

of 8 hours to up.
(A) set (B) sober (C) shake (D) snarl
Fine particulate matter (PM2.5) is an air that affects people’s health such as causing or aggravating

respiratory and heart disease. ,
(A) pollutant (B) substance (C) pollution (D) objector
A survey shows that at least 336 people nationwide had suffered hearing loss during 2015 and 2016 as a result of
complications after they had contracted mumps. The word contracted in the sentence is closest in meaning to
(A) enhanced (B) contaminated (C) extracted (D) caught
The fact that smaller companies are able to react more quickly to economic fluctuations than larger ones is
their greater flexibility. ’
(A) used to (B) owe to (C) relate to (D) due to
The authorities decided to tear down the historic library despite the strong demand for preservation from the local
people. The phrase tear down in the sentence is closest in meaning to
(A) detract (B) deteriorate (C) demolish (D) desert
is the secret planning by a group of people to do something bad, unlawful or harmful.
(A) Conspiracy (B) Accomplice (C) Coercion (D) Compromise
The personal information you provide on this questionnaire will be treated as strictly and will not be
shared with any other companies.
(A) Substantial (B) Circumstantial (C) Confidential (D) Essential
African swine fever is a highly contagious hemorrhagic disease of pigs, and almost 1 million pigs
over the past six months as China battles the disease. ,
(A) slaughtered (B) were slaughtered (C) have slaughtered (D) have been slaughtered
sunglasses equipped with facial recognition technology allow police officers to quickly identify
potential criminals.
(A) Surveillance (B) Survey (C) Suppress (D) Spontaneous
Acupuncture is a treatment of physical and mental conditions from ancient Chinese medicine, where

fine needles are positioned at special points in the body.
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(A) traced (B) deprived (C) derived (D) attracted
31. By knowing more about automobile accident fraud schemes, you can avoid being victimized by

criminals who prey upon innocent motorists.

(A) random (B) staged (C) track (D) bomber
32. A Kansas couple faces criminal charges after prosecutors said they knowingly violated a order for
possible measles exposure last year.
(A) detain (B) quadrant (C) serpentine (D) quarantine
33. Contact a local police department if you have any information regarding the Ten Most Wanted
whereabouts.
(A) Fugitives’ (B) Figures’ (C) Figurers’ (D) Fugues’
34-36 '
Undercover operation is often described as a sting operation, because it is an operation designed to catch a person
committing a crime by means of . The word sting means that the police set a trap to apprehend
criminals. Sting operation is a common but technique because the undercover officer might act as a
drug dealer or even trafficker and in the crime.
34. (A) deceptive (B) deception - (C) deceive (D) decedent
35. (A) contraband (B) constrain (C) contraceptive (D) controversial
36. (A) participate (B) adhere (C) trespass ' (D) withhold
37. Ben: I get so annoyed with Tom.
Sam: . He is driving me crazy with his stupid jokes.
(A) Leave me alone (B) Give me a break (C) Tell me about it (D) Pardon me
38-40

The tactics used to control riots in the past were simple -- they were based on the fact that the police were almost
always better-armed than the rioters. The tactics they used basically consisted of forming a line and charging into
the crowd. Today's riot control units are usually called crowd-management units, and just try to calm people down
and get them to go home. The tactics have advanced significantly in hopes of preventing injuries. The use of force,
even non-lethal force, is a last resort.
When a riot is in full swing, police will deploy in a square formation with a command team at the center. This
tactical unit is very mobile and able to adapf on the fly to changes in the situation. If a threat suddenly appears
behind or to one side of the unit, then the echelon facing that direction is designated the front of the unit. The
entire team can then change the direction it's facing without a lot of maneuvering. If a particularly violent group
moves toward the officers or they spot specific suspects they want to arrest, they can quickly close the gaps and
form a tight line.

38. According to the passage, the aim of today’s riot-control is
(A) trying to beat or shoot the rioters into submission (B) trying to get people to go home and prevent injuries
(C) trying to form a line and charge into the rioter (D) trying to change the direction it’s facing

39. The phrase on the fly in the passage is closest in meaning to

(A) intentionally (B) accidentally (C) quickly (D) nervously
40. Based on information in the passage, which of the following best explain the phrase in fill swing?

(A) in an unstable state (B) not steady in action or movement

(C) moving at a regular basis (D) at the highest level of activity or operation
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1. After the defendant has been proved guilty by trial, he/she has the right to : B 4F 3 0 07-236-7296

(A) approve (B) appeal (C) appear (D) appease
2. Because two ships collided, relevant government agencies were quickly mobilized to control damage and contain
the spread of

(A) exercise (B) decontamination (C) contamination (D) execution
3. Intense and fast-moving fires raged across many areas of California last week. The  firestorms have
claimed the lives of hundred people.

(A) efficient (B) reliable (C) massive (D) adequate
4. South Korea has seized a Hong Kong-registered ship that allegedly transferred oil to a North Korean vessel in
violation of United Nations

(A) sanctions (B) competitions (C) constructions (D) testimony

5. While the parents were looking __ for their missing children, the kids were actually having fun in the woods
nearby.
(A) distinctly (B) precisely (C) evidently (D) anxiously
6. 1’m afraid we can not buy your story, because the evidence we’ve collected so farisnot __ with what you said.
(A) familiar (B) consistent (C) durable (D) sympathetic

7. Three stranded killer whales died at the National Cheng-kung University Marine Biology & Cetacean Research
Center. Researchers found 18 plastic bags in the stomach of the thinnest of the three whales during :

(A) diverge (B) consensus (C) authority (D) autopsy
8. The helicopters __ over the sea and looked for the divers who had been missing for more than 30 hours.
(A) hovered (B) rustled (C) strolled (D) tackled
9. When a young child goes out and commits a crime, it is usually the parents who should be held __ for the
child’s conduct.
(A) eligible (B) accountable (C) credible (D) dispensable
10. Human rights are fundamental rights to which a person is entitled. That means a person is born with
those rights.
(A) inherently (B) imperatively (C) authentically (D) alternatively
11. Judge Harris always has good points to make. Her arguments are very _ as they are based on logic and sound
reasoning.
(A) offensive (B) indifferent (C) passive (D) persuasive
12. A well-constructed building has a better chance of _ natural disasters such as typhoons, tornadoes, and
earthquakes.
(A) conserving (B) conceiving (C) executing (D) withstanding
13. Concerned about mudslides, the local government quickly _ the villagers from their homes before the
typhoon hit the mountain area.
(A) humiliated (B) suffocated (C) evacuated (D) accommodated
14. Many universities offer a lot of scholarshipsasan __ to attract outstanding students to enroll in their schools.
(A) ornament (B) incentive (C) emphasis (D) application
15. The forensic analysis is very technical and specialized; it is too difficult fora _ to understand.
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(A) patriot (B) hacker (C) layman (D) tenant
16. According to researchers, fatigue factors to the police associated with the frequent shift

(A) citation (B) appreciation (C) rotation (D) affiliation
17. He was charged with sexual abuse and freed on 1 million
(A) jail (B) bail (C) trail (D) tail

18. Parents could be charged with negligence or abandonment if they leave their young children home alone without
adult

(A) intuition (B) obligation (C) compassion (D) supervision
19. The high-tech company’s __ earnings surely made its shareholders happy since they were getting a good
return on their investment.

(A) robust (B) solitary (C) imperative (D) terminal
20. In Taiwan, there are a lot of cameras whichare _ on the streets.

(A) inventoried (B) intensified (C) installed (D) informed
21. According to environmental scientists, the Earth is likely to experience significant _ changes within the
next century. If we do not do something to protect the environment, we might suffer from the changes.

(A) provincial (B) authentic (C) ecological (D)incentive
22. The water company inspects the pipelinesand __ the water supply regularly to ensure the safety of our
drinking water.

(A) exhibits (B) monitors (C) interprets (D) converts
23. For the rescuers, the next step is determining the severity of the disaster and responding

(A)innocently (B) significantly (C)regularly (D) accordingly
24. The Internethas __ newspapers as a medium of mass communication. It has become the main source for
national and international news for people.

(A) deformed (B) promoted (C) surpassed (D) convinced
25. In bad weather conditions, you have to drive very __ to avoid traffic accidents.

(A) cautiously (B) recklessly (C) smoothly (D) passively
26. The president’s speech will be broadcast on television and radio so that more people can listen to it at
the time when it is delivered.

(A) simultaneously (B) temporarily (C) comparatively (D) permanently
27. Many factors may explain why people are addicted to the Internet. One factor __ to this phenomenon is the

easy access to the Net.

(A) advancing (B) occurring (C) contributing (D) responding
28. Tropical rainforests are home to about one million plant and animal species. If the rainforests disappear, many of
these species will become

(A) hostile (B) extinct (C) mature (D) intimate
29. An honest person is faithful to his promise. Once he makesa __, he will not break his own word.
(A) prescription (B) transcript (C) frustration (D) commitment
30. Mastery of English us with a very important tool for acquiring knowledge and information.
(A) abbreviates (B) equips (C) interferes (D) deprives
31. Researchers found that sharks are predators at the top of the food chain. Over the sharks’ lifetimes, the highest
concentrations of toxic substances such as mercury, methylmercury, cadmium and arsenic ______in their bodies.
(A) accumulate (B) accelerate (C) decorate (D) convey
32. Animal experimentation is needed to help __ vast gaps in medical knowledge.
(A) bridge (B) increase (C) spread (D) isolate
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33. The South China Sea has been subject to a series of disputes impacting ROC __ and legal rights over islands
and their surrounding waters.

(A) diplomacy (B) sovereignty (C) superstructure (D) cultivation
34. Recently, the Taipower Company submitted an application to Taiwan’s Atomic Energy Council (AEC) for
authorization to restart a nuclear reactor at the No. 2 nuclear plant in Wanli, New Taipei. Various environmental
groups and some legislators have raised their voicesin ___ to Taipower’s action.

(A) acquiescence (B) approval (C) acceptance (D) objection
35. Most parts of Taiwan have access to sufficient supplies of fresh water for drinking. But fresh water can be in short
supply in many arid regions of the world such as Saudi Arabia, where there are limited water resources. Which of the
following is closest in meaning to “arid” in the paragraph?

(A) occupied (B) dry (C) isolated (D) remote
36. Advocates of organic foods, a term whose meaning varies greatly, frequently proclaim that such products are
safer and more nutritious than others. The word "Advocates" is closest in meaning to which of following?

(A) Merchants (B) Consumers (C) Inspectors (D) Proponents
37. The ocean bottom, a region nearly 2. 5 times greater than the total land area of the Earth, is a vast frontier that
even today is largely unexplored and uncharted, until about a century ago, the deep-ocean floor was completely
inaccessible, hidden beneath waters averaging over 3,600 meters deep. The word "inaccessible" is closest in meaning
to which of following?

(A) unreachable (B) unrecognizable (C) unusable (D) unsafe
38. Hualien prosecutors on Tuesday morning applied to Hualien District Court for _ to detain the builder of the
collapsed Yun Men Tsui Ti building (£ ™ % 3%), where 14 people died as a result of the magnitude-6.0 earthquake
that struck Hualien on February 6.

(A) admission (B) submission (C) permission (D) contribution
39. In the police station, weaponsand __ are stored in armory.

(A) ammunition (B) amnesty (C) amnesia (D) ethics
40.  force is a troubling aspect of police misconduct, because it is not always easy to determine the precise
amount of force that is required in each situation.

(A) Effective (B) Intensive (C) Excessive (D) Responsive
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1. The thief went into the apartment building and stole some jewelry. He then _ himself as a security guard and
walked out the front gate.
(A) balanced (B) calculated (C) registered (D) disguised
2. The police said that the house was suspicious with illegal activities and was under___.
(A) innocence (B) observation (C) assurance (D) estimation
3. Itis both legally and wrong to spread rumors about other people on the Internet.
(A) literarily (B) physically (C) morally (D) commercially
4. The government issued atravel  for Taiwanese in response to the outbreak of civil war in Syria.
(A) circulation (B) document (C) monument (D) alert
5. Everyone in the office must attend the meeting tomorrow. Thereareno __ allowed.
(A) measures (B) exceptions (C) additions (D) divisions
6. Thememory __ of the new computer has been increased so that more information can be stored.
(A) attachment (B) occupation (C) capacity (D) machinery
7. Robots and computers could  almost 250,000 public sector workers over the next 15 years, improving
efficiency and saving billions of dollars.
(A) distribute (B) replace (C) subtract (D) transfer
8. Instatistics, _ refers to the repeatability of findings. If the study were to be done a second time, it would yield
the same results.
(A) reliability (B) clumsiness (C) flexibility (D) brutality
9. When you take photos, you can move around to shoot the target object from different
(A) moods (B) angels (C) inputs (D) angles
10. Many important legal _ concerning the tragic incident have now been preserved in the museum.
(A) distributions (B) formations (C) documents (D) constructions
11. The passengers _ escaped injury when a fire broke out on a crowded Hong Kong metro train.
(A) narrowly (B) valuably (C) loosely (D) traditionally
12. A good government official has to the temptation of bribes and make the right decision.
(A) consist (B) insist (C) persist (D) resist
13. The medicine you take for a cold may cause _____; try not to drive after you take it.
(A) incident (B) drowsiness (C) bacteria (D) violence
14. The woman told the truth to her lawyer without _ because he was the only person she could rely on.
(A) impression (B) combination (C) reservation (D) foundation
15. The police have to work _ to protect the citizens’ safety and properties.
(A) around the clock (B) in the extreme (C) on the house (D) in the majority
16. It is necessary for the eyewitness to __ this point. The police need to know what exactly he saw when the crime
occurred.
(A) clarify (B) falsify (C) purify (D) notify

17. The bus driver’s driver license was for his drunk driving which caused a serious traffic accident and killed a
dozen of passengers.
(A) provoked (B) invoked (C) revoked (D) evoked
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18. Failing performing their duties, the two security guards will be from all their duties until further
investigation is completed.

(A) collapsed (B) measured (C) declared (D) suspended
19. We live in a changing world and people must learnto _ to the environment.
(A) adorn (B) adopt (C) adore (D) adapt
20. Could you tell me how the traffic accident _ ?
(A) came about (B) came around (C) came off (D) came over
21. The officer was blamed because he wasso _, just sat there and waited for something to happen.
(A) passive (B) expressive (C) extensive (D) persuasive
22. The report said the fire was started by electrical wiring.
(A) dreary (B) faulty (C) simply (D) steady
23. On the basis of the syndromes, can you predict the_ of the health checkup?
(A) outcome (B) headline (C) cause (D) performance
24. A good reader can often figure out what new words mean by using_ .
(A) contact (B) context (C) contract (D) contest
25. From many clues that the fire fighters gathered, it is believed that the building was seton fire
(A) sympathetically (B) primarily (C) deliberately (D) thoroughly
26. There are strict laws to ___ the use of chemicals in food.
(A) regulate (B) recollect (C) reject (D) refresh
27. The manager hadto _ between problems because of a lack of ability from those of a lack of motivation.
(A) distant (B) distinct (C) distinguish (D) district
28. Serious ____ has been reported after the tour bus crash. According to the report, among all the 44 members
onboard, 33 were killed and 11 injured.
(A) exposures (B) hardships (C) speculations (D) casualties
29. The prosecutors __ former President Ma Ying-jeou on the charge of leaking state secrets in a case dating back
to September of 2013.
(A) indicated (B) indicted (C) informed (D) insured
30. Untreated __ from houses was pumped into the sea, from where it polluted our beaches.
(A) gravity (B) waterline (C) sewage (D) acceleration

Reading comprehension

A polygraph machine, also known as a “lie detector,” is a common part of criminal investigations. The instrument is
used to measure _31  a person’s body reacts to questions. The theory underlying it is that lying is stressful, and that
this stress can be measured and recorded on a polygraph machine.

When a person takes a polygraph test, four to six wires, called sensors, are _ 32 to different parts of his body. The
sensors pick up signals from the person’s blood pressure, pulse, and perspiration. _33  the process of questioning,
all the signals are recorded on a single strip of moving paper. Once the questions are finished, the examiner analyzes
the results to determine if the person tested _34  truthful.

Well-trained examiners can usually detect lying with a high degree of _ 35  when they use a polygraph. However,
because different people _36 differently when lying, a polygraph test is by no means perfect.

31. (A) what (B) when (C) how (D) why

32. (A) adapted (B) attached (C) related (D) restricted

33. (A) Before (B) Among (C) Without (D) Throughout

34. (A) was being (B) would be (C) was to be (D) would have been
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35. (A) quantity (B) accuracy (C) possibility (D) emergency
36. (A) like (B) understand (C) resist (D) behave

As you pass through life, you'll meet new people. Most times, it's best just to be yourself. But other times—when
you're interviewing for a job, for example—it's best to be your best self. When meeting someone new at a job
interview, there are a few simple things you can do to ensure you present your best self: give a firm handshake, make
good eye contact, and use a clear, strong voice. And don't forget to smile!
37. The author apparently believes that to be your best self, you should appear

(A) confident (B) intelligent (C) interesting (D) attractive

Jacques Cousteau is famous for several reasons. He explored the sea. He wrote books. He made movies about what he
saw beneath the waves. And he helped people learn that we need to take care of our oceans.
38. The sentences

(A) describe what life looks like beneath the waves.

(B) tell readers why Jacques Cousteau is famous.

(C) explain why we need to take care of the oceans.

(D) illustrate the books that Jacques Cousteau wrote.

Many people believe four-leaf clovers are lucky. Most clovers have only three leaves. Plant experts believe that there
are about 10,000 three-leaf clovers for every one four-leaf clover. This means four-leaf clovers are quite rare.
Nevertheless, it might be worth trying to find one. You never know when you might need some extra luck!
39. As used in the passage, which word is OPPOSITE in meaning to rare?

(A) ugly (B) special (C) common (D) unlucky

The red set of dishes includes cups, plates, and bowls. It costs only fifty dollars. The blue set of dishes includes cups,
plates, bowls, and mugs. It costs seventy-five dollars.
40. In this passage, dish sets are described by comparing their

I. age Il. price [11. color IV. contents

(A) 1 only

(B) lIand Il

(C) Il and 111

(D) 11, 1l and 1V
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The man was given a test that registered 0.139, well above the legal limit of 0.08 for adriving under the
influence charge.
(A) Polygraph (B) Coordination (C) Breathalyzer (D) Aptitude
Vets had to the horse's leg to stop the spreading of gangrene in its body.
(A) allocate (B) amputate (C) abolish (D) admonish
With an election win under his belt, Prime Minister Abe is expected to increase his efforts to nuclear
power despite persistent public opposition.
(A) reved (B) revolve (C) revise (D) revive
VW has dismissed a call to pay to European drivers who bought cars with emissions test-cheating
software since the company has promised to remove the device.
(A) compensates (B) compensation (C) compensatory (D) compassion
By winning seven of eleven states, Clinton took a step toward winning the 2016 Democratic Presidential
nomination on Super Tuesday.
(A) monumental (B) marginal (C) memoria (D) mortal
Harry was misled by Carol’'s into donating all his savings to the Wildlife Conservation.
(A) appearance (B) clothing (C) eye-contact (D) rhetoric
A former professional baseball player was taken into custody late Tuesday by the Police on of
possessing an illegal drug at his condominium in Tokyo.
(A) suspect (B) suspicion (C) suspension (D) suspense
Shane pleaded guilty to the charge of attempting to cocaine into the country and was sentenced to 17
yearsin prison.
(A) snatch (B) convey (C) smuggle (D) forge
Derek Robertson was charged with bank robbery and forcing a bank employee to accompany him without the

employee’'s

(A) consent (B) consensus (C) conscience (D) consequence

Earlier thisweek, North Korea fired two short-range ballistic missiles into the sea afew days after threatening to
launch a" nuclear strike of justice" against the US and South Korea.

(A) pre-eminent (B) pre-exist (C) pre-emptive (D) preceding

The relationship between Apple and Microsoft is packed with ups and downs for decades, but the two companies
are in the competition of developing new operating systems for the computer.

(A) aminam (B) hand in hand (C) faceto face (D) neck and neck

Two Japanese former detectives the idea of using footprints as a more reliable means of identification in
natural disasters after withessing multiple errors in identifying bodies after the March 2011 earthquake and
tsunami.

(A) checked up on (B) came up with (C) put up with (D) went in for

Police officers have the right to frisk or suspects when they aware that their personal safety may be at
risk.

(A) pat down (B) put down (C) throw out (D) catch on
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14. The term "heart disease" refers to arange of conditions that affect one’s heart. Genetic factors may
some patients' heart disease, but in most cases a high-fat diet and low levels of activity compound it.

(A) carry on (B) count on (C) takefor (D) account for
15. In order to current events many people read the news online every day.
(A) make up with (B) get along with (C) keep up with (D) go through with
16. DeepMind's AlphaGo and defeated legendary Go player, Lee Sedol, marking a major milestone for
artificial intelligence.
(A) took on (B) took up (C) took off (D) took down
17.LouisVuitton is one of the world’'s most famous makers of luxury goods and is acknowledged as the creator of the
first “designer label.” Today the LV brand still the highest quality.
(A) stands out (B) stands up (C) stands for (D) stands over
18. A rescue operation that took place after the Taiwan earthquake was concluded on Saturday as the remains of the
last person was pulled from the wreckage of the apartment complex.
(A) unaccustomed to (B) unaccounted for (C) unacknowledged for (D) unasked for
19. Johnny found ajob that paid he made working at the post office.
(A) asthreetimes much as (B) as much three times as (C) three as much timesas (D) three times as much as
20. According to the media, the missing freelance journalist was being held by an armed group, usually
makes use of hostages to conduct prisoner swaps or gain financial benefits.
(A) that (B) whose (C) which (D) whom
21. Gary wanted to let his families know right away, but Sheryl suggested until the news had been
announced officially.
(A) towait (B) waiting (C) waited (D) wait
22. By thistime next year, the renovation of the museum will
(A) complete (B) be completed (C) have completed (D) have been compl eted

23. A man was intoxicated in a bar when the bartender declined to give him any more alcohol. The man became upset
and started to disturb other customers. The word intoxicated in the sentence is closest in meaning to
(A) drunk (B) poisoned (C) intolerant (D) intemperate

24. When the man was uncooperative, he was placed in handcuffs and charged with disorderly conduct by the police.
Which of the following is not “disorderly conduct” ?

(A) actions that disturb others (B) being too noisy or violent in a public place
(C) killing someone (D) being drunk in public
Questions 25-27
At least two people are dead and almost 70 injured following a 12-vehicle 25 inside a highway tunnel

on Tuesday. No sprinklers were installed inside the tunnel, but fire 26 were installed every 50 meters.
Rescue workers _ 27  amakeshift tent near the tunnel where the injured waited to be transported to hospitals.

25. (A) hit-and-run (B) pile-up (C) head-on (D) side-impact

26. (A) engines (B) lights (C) darms (D) extinguishers

27. (A) setup (B) set out (C) set off (D) set on

28. Shoplifting can leave a person with arecord and impact their life. The consequences can affect your lifefor yearsto
come.
(A) It's exciting. (B) It'snot worth therisk. (C) It'sworth atry. (D) It’'sthe best part.

29. A: So how did theinterview go?

B: It went well. The interviewer asked me if | had any previous work experience.
So | told her
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30.

31

(A) | have severa part-time jobs. (B) | had several part-time jobs.

(C) I've had severa part-time jobs. (D) I'd had several part-time jobs
A: Hi, | need aroom for the night. B: .

(A) Really? That's amazing! (B) You'rein luck. We have two rooms | eft.

(C) Of course! That makes sense. (D) So what are we going to do tonight?

A: Mrs. Smith is going through the sales files now.

B: The salesfigures are OK, knock on wood.

A: Look, She's calling you.

B: Oh, dear! in my reports. Wish me luck.

(A) She finds something wrong (B) Sheisfound something wrong
(C) She might find somethingwrong (D) She might have found something wrong

32. A: What's wrong with Jane? She's been walking around all day looking sad.

B: Didn’t you hear? Ken dumped her last night!

A: Wow, I’'m surprised. !

(A) They were quarrelling all thetime (B) They broke up three weeks ago
(C) They always looked happy together (D) They were ripped off

Questions 33-36

33.

34.

35.

36.

Multisystemic Therapy (MST) is an organized treatment program to prevent juvenile crimes. The program aims to
enhance parenting skills and provide family therapy to troubled teens and delinquent teens that empower youth to
cope with the family, peer, school, and neighborhood problems they encounter. It isafour to six months
time-limited intensive program that provides services in the family's home, at other locations such as school and
neighborhoods, or wherever the family feels most comfortable. MST therapists advise young people and their
parents how to avoid arguments and encourage trust and respect. They aso supervise participants at school and in
recreational areas. The program has even helped rehabilitate youth offenders who have served time for
committing serious crimes. It has been shown to be effective with targeted populations that include inner-city
delinguents, violent and chronic juvenile offenders, juvenile offenders who abuse or are dependent on substances
and also have psychiatric disorders, adolescent sex offenders.

What is the main idea of the passage?

(A) MST can help parents keep their children athome. (B) MST is an effective alternative to psychiatric
hospitalization.  (C) MST can help young person who committed a serious crime and has been put behind bars.
(D) MST can effectively help high-risk young people modify their conduct or emotional problems by providing
therapy in their most comfortable place.

What does the word “rehabilitate” mean in the sentence?

(A) to extricate from an undesirable state (B) to bring to perfection or completion (C) to give new
strength and energy to (D) to return someone to a good, healthy, useful or active life again

How do M ST therapists work with young offenders?

(A) MST therapists order the young offenders to stay at home. (B) MST therapists go to the
neighborhood where the young offenders live and attend school. (C) MST therapists solve problems for
the young offenders. (D) M ST therapists put the young offendersin jail in order to discipline them.

The passage states that M ST equips the youth to :

(A) serve their families four to six months (B) abuse other young fellows at school (C) depend on
substances to escape problems (D) handle the difficulties they contend with at home or other locations.
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Questions 37- 40

37.

38.

39.

40.

Forensic science (often shortened to forensics) is the practical application of scientific knowledge and
methodology to legal problems and criminal investigations. Modern forensic science originated in the late
nineteenth century in Europe, where the criminal investigators began to use fingerprinting and other identification
techniques to solve crimes. Forensics covers multiple scientific disciplines such as chemistry, physics, biology,
medicine, computing, engineering, etc. Forensic scientists study the details of a crime and testify as impartial
expert witnesses in both criminal and civil cases and can work for either the prosecution or the defense. They use
avariety of problem-solving methods, mathematical principles, complex instruments, and microscopic examining
techniques to explain the intricacies of each piece of evidence from a case. While some forensic scientists travel
to the scene to collect the evidence themselves or conduct their analysis at the scene of the crime, others occupy a
purely laboratory role, performing analysis on objects brought to them from the crime scene, victims and/or
suspects by the police or other law enforcement agencies. Thisincludes the analysis of many kinds of materials,
including blood, fibers, bullets, and fingerprints.

According to the passage, which of the following is not true?

(A) In criminal law, forensics science can help prove the guilt or innocence of the defendant. (B) Forensic
Science isamultidisciplinary subject, drawing principally from biology, physics and chemistry. (C) Forensic
Scientists are responsible to explain the results of their analysis and describe the methods they used to reach their
conclusion and serve as witnesses in the police department. (D) Forensics can help resolve a broad spectrum
of legal issues through the identification, analysis and evaluation of physical evidence.

According to the passage, which one of the following types of materialsis not analyzed by forensic scientists:

(A) materials from laboratory (B) materials from victims or suspects

(C) materials from the crime scene (D) blood, fibers, and fingerprints

Which of the following is not the meaning of “impartial” in the passage?

(A) unprejudiced (B) unbiased (C) unjust (D) disinterested
Which of the following is not the type of role that forensic scientists play in criminal investigation?

(A) expert witness (B) evidence analyst (C) evidence collector (D) interview witness
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